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A KR = v b F XK = B 0 9, 130, 000 0 9,130, 000 9,710, 000 A 580, 000
J B v ¥4 X = B 0 3,900, 000 0 3, 900, 000 3,900, 000 0
h &3 X = 5 0 2,490, 000 0 2,490, 000 2,650, 000 A 160, 000
% i X = & 0 2,740, 000 0 2,740, 000 3,160, 000 A 420,000
B & & 0 2,844,000 0 2, 844,000 2,745, 000 99, 000
il g il & 5 0 1,564, 000 0 1, 564, 000 1, 305, 000 259, 000
5 8 &F & % 0 1,280, 000 0 1, 280, 000 1, 440, 000 A 160, 000
A B & 0 1,400, 000 0 1, 400, 000 1, 640, 000 A 240,000
Hh b & w7 0 640, 000 0 640, 000 640, 000 0
A ] & 0 400, 000 0 400, 000 400, 000 0
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0 360, 000 0 360, 000 600, 000 A 240,000

0 630, 000 0 630, 000 1,006, 000 A 376,000

0 6, 529, 000 0 6, 529, 000 6, 581, 100 A 52,100

0 0 340, 000 340, 000 200, 000 140, 000

620, 000 130, 000 84, 000 834, 000 761, 000 73,000
33, 562, 000 4,528,000| 1,242,000( 39,332,000( 44,398,109 A 5,066, 109
20, 000 10, 000 10, 000 40, 000 40, 000 0

14, 376, 000 0 0f 14,376,000( 18,543,000 A 4,167, 000
2,949, 000 2,690, 000 0 5,639, 000 7,796, 400] A 2,157,400
10, 026, 000 350, 000 0f 10,376, 000 7,008, 000 3, 368, 000
1,200, 000 720, 000 765, 000 2,685, 000 2,763, 000 A 178,000
1,242, 000 250, 000 110, 000 1,602, 000 2,771,748 A 1,169, 748
400, 000 120, 000 20, 000 540, 000 592, 000 A 52,000
1,000, 000 200, 000 267, 000 1,467, 000 2,054, 300 A 587,300
980, 000 168, 000 70, 000 1,218, 000 1, 280, 000 A 62,000
600, 000 0 0 600, 000 630, 000 A 30,000
769, 000 20, 000 0 789, 000 919, 661 A 130, 661
96, 679 2,691 11,292 170, 662 682, 623 A 511, 961
304,054,679 25,193,691 1,737,292] 330,985 662] 244 427, 402 86, 558, 260
A 1,562, 574] A 3,547,691] A 917,192] A 6,027 457] A 7,038, 573 1,011,116
0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

0 0 0 0 0 0

A 1,562, 574] A 3,547,691] A 917,192] A 6,027 457] A 7,038, 573 1,011, 116
1,562,574 3, 547, 691 917,192 6,027, 457 7,038,573] A 1,011,116
0 0 0 0 0 0






